Algorithms & Models of Computation
CS/ECE 374, Fall 2020

21.6.1.1

Review problems on CNF
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z = X: Solution
Given two bits x, z which of the following
SAT formulas is equivalent to the formula

x|

R = OOl X

k=l =l

ol lol |l
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Z=XANY

Given three bits x, y, z which of the follow-
ing SAT formulas is equivalent to the for-
mulaz =x A y:

(A) ZVxVy)AN(zVXVYy

(B) (ZzVxVy)A(zVXVy)A
(zVXxVYy).

(C) (ZVxVy)AN(ZVXVy) A
(zVXVYy)A(zVXVYy).

(D) (zvxVy)A(zVXV Yy A
(zVXVy)A(zVXVYy).

(E) (zVxVy)A(zVXxVY)A
(zVEVY)A(zVEVY)A
ZVXVY)AZVXVY)A
(ZVXVYy)A(ZVXVYy).

X|y|z =XANYy
0|00 1
0,01 0
0/1]0 1
0]1]|1 0
110]0 1
1101 0
11110 0
1111 1
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z=XxVYy

Given three bits x, y, z which of the follow-
ing SAT formulas is equivalent to the for-
mulaz =xV y:
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THE END

(for now)



